
Instruction
Mounting

FlexiModal SASU

11 rue du Clos Courtel - CS30817

35708 RENNES cedex 7

FRANCE

www.fleximodal. fr

BicyLift Hitch
for
Douze Cycles V2



Required tools
4 mm

5 mm

BicyLift Hitch
for
Douze Cycles V2

1- remove the 2 M6 dropout fixing screws on the left side and the M5 mudguard fixing screw on the

left side

Mounting

Screw mudguard

Screw Dropout

2- Remove the unscrewed plate from the dropout (in red on the picture).

3 - fix the hitch with the screws provided:

Screw M5x16 mudguard

Screw M6x25 Dropout

Security check
Before using the hitch, check that the screws have been correctly positioned and tightened.

Make sure that the rear disc brake caliper has not been moved during operation and that the brake is

ful ly operational.

0- Position the bike on a flat surface on its stand and rear wheel.

Screw M6x16 luggage carrier

Screw luggage carrier

(not compatible with the trailer)




